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Chemistry 201
P 1

Practice Quiz
Stoichiometry -
Molar volume ol an deal 3&5

On an actual quiz each of these problems would be worth 5 points for g fotal of 20 poinfs.

For the reaction: 3Cy) + 25045 > CSam + 2C 04y . how many liters of carbon dioxide ore formed at

1.
STP from the reaclion of .00 grams of carbon with excess sulfur dioxide?
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For the reaction: 2Al,) + 3Bry) 2 2AlBryy, if 4.0 grams of aluminum are combined with 2.0 grams of

2,
bromine:
a. How many grams of aluminum bromide are produced? LB
Y05 ALy Lol x 2By 26bCEg 8. 1040, Il x 205 « 2EL25
%8 7aj mol /528 38, 7
b. Which reactant is the limiting reactant? TR
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3. For the reaction: COyy + 2Hz 2 CH:OH 4,

8.00mL of methanol {CH,OH d=0.7218g/ml]} are produced from 14.0 grams of corbon monoxide
reacling with excess hydrogen gas. What is the percent yield for this reaction?
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4. For the reaction: 2KClOs; 2 2KCly + 3024 treocehieal Mild

How many grams of potassium chlorate would need to be decomposed to produce 6.00 L of

oxygen gas at STP?
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